FEH26FEEFHEBA - BHDKTR

T, 118 L5 A OF 28] MBURILEARL TOET, SEIE, FR264FE L34 (FRk264F4H 1H
~Y 26529 A 30 H) DRMEARLET,

(1) — Mg =Et

(& A) (E AL : FH. %)
X B B FHEA IR IXAHR
1 |hdt 9,590,495 5,705,545 59.5
2 |HUGEER 286,802 86,307 30.1
3 |FIFEIRASE 19,811 5,985 30.2
4 |[EBEERMAE 6,199 3,089 49.8
5 |[HNEBETGIIRME 1,633 0 0.0
6 |HIGHEBBRTE 953,462 527,640 55.3
7T |FATERABRS& 23,539 5,304 22.5
8 |BBVHEEUSBIRR A& 32,341 7,620 23.6
9 |EARMMREPE TN B & 583,932 0 0.0
10 |HI5 RepI R AT & 31,390 31,390 100.0
11 |HIGF AR 13,830,561 9,695,716 70.1
12 | RBREXRERIR & 13,002 5,608 43.1
13 |HERVCEHEE 472,017 223,862 47.4
14 |BEREROFECE 742,241 307,295 41.4
15 |EEXH& 10,850,775 4,685,998 43.2
16 |RXH& 9,691,672 957,207 9.9
17 |MEERRA 404,830 361,042 89.2
18 |&FMt& 0 250 -
19 [A& 986,305 0 0.0
20 |HpHid 1,857,019 1,857,019 100.0
21 [FEIRA 538,634 230,560 42.8
22 |TifE 9,591,171 0 0.0
& &t 60,507,831 24,697,437 40.8
(% i)
X # E] FHEA X HEH PUTR
1 |[BE 393, 548 212,282 53.9
2 |[REBEE 9,077, 058 1,326,270 14.6
3 |BAE 23, 525, 887 10,594,943 45.0
4 |HEE 2,924, 329 1,322,785 45.2
5 |EE 541, 520 208,601 38.5
6 |EHKEEE 1, 655, 965 350,217 21.1
7 |FETE 1, 033, 452 293,152 28.4
8 |tAE 6, 257, 751 1,834,773 29.3
9 |HBE 1,497, 372 615,012 41.1
10 |BFE 8, 582, 072 2,546,138 29.7
11 [KREEIAE 40, 676 7,462 18.3
12 |AMEE 4, 883, 945 2,175,334 44.5
13 |#ExXH& 1 0 0.0
14 | P& 94, 255 0 0.0
& Bt 60,507,831 21,486,969 35.5

X ERERIT EH (ER2654H 1 H ~Fa2649H 30H) EFTOHFITRI T,
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(2) Al =&

(H AL : TH . %)

=Et4 THEHA I B8R AR X PUTHR
E RAERERER 20,171,875 7,163,903 35.5 9,621,293 47.7
SELRBR 8,855,319 4,136,379 46.7 3,491,955 39.4
NETAERE 3,018,758 714,962 23.7 995,717 33.0
BEERTOKERE 15,952 11,108 69.6 6,082 38.1
B s ER 855,057 407,032 47.6 332,135 38.8

& &t 32,916,961 12,433,384 37.8] 14,447,182 43.9
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(3) A RBEES

—ik =Bt (EALRIBES (B AL T M. %)
& A% A ERBER BER 3544
BUNE S 14,837,145 14,140,191 30.5
INEE A TNE 409,924 372,619 0.8
BRF R AR B 100,000 50,000 0.1
T RAT 550,041 396,099 0.9
Z D4k e 12,203,492| 11,655,916 25.1
RBRSHEE 0 0 0.0
Syt 1,276,442 1,181,223 2.5
REMte 268,901 270,001 0.6
i N LR s & bk AE 16,557,380| 18,285,583 39.5
& B 46,203,325 46,351,632 100.0
— k=g (HBBIHAER) (B AL F M., %)
H B AR ERBER BIES MRk
BRBAE 5,964,291 6,333,832 13.7
EAE 383,873 367,363 0.8
A 277,235 236,292 0.5
KRB 446,608 425,977 0.9
PE T 715,827 615,081 1.3
FAfE 12,920,480| 12,764,775 27.5
W5 607,533 584,268 1.3
BEiE 9,274,130 9,849,228 21.3
K I 18,198 16,407 0.0
Z D, 15,595,150| 15,158,409 32.7
& & 46,203,325 46,351,632 100.0
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R T AEF RIS E (EASERIEHAER)

(HAL : F [, %)

& A & RIEERBER| BES MR

BN&ES 7,187,872 7,296,495|  55.0
N ARANE 4,911,355 4,773,048|  36.0
T e gR4T 1,285,460 1,199,161 9.0
& #F 13,384,687]  13,268,704| 100.0

FE T AEF RIS E (B BISHES)

(BAZ . T H. %)

H # AT ERBES BER AR
NIETKEFEE 10,658,105 10,502,005  79.2
TR T K ERRAHSEERE 1,663,912 1,728,691 13.0
BAERE(VIE 633,780 621,710 4.7
BEARELEE RRIHEES) 428,890 416,298 3.1

& & 13,384,687] 13,268,704 100.0

BERHE IR BRI (EASLHIBRIER)

(HAZ . F 1. %)

& A & ATEERBER BERS R

BUNE S 14,387 14,044|  53.2
INBE A S RN 12,729 12,374  46.8
& &t 27,116 26,418 100.0

XATEERBFERIT, FR25FEER, BERIL, FR264£9H 30 A REDRIL T,

(A ESBRAER

AL T M. %)

(3

X4 4 W WEERREE| BRAHE 35320
MBS 4,587,037 4,587,037|  33.6
THIBA RIS 228,485 228,485 1.7
TESREBRES 458,939 458,939 3.4
BUEES 4,261,252 4,261,252 31.2
— Mg EHE RS 94,669 94,669 0.7
B R AREROERERERES 224,844 224,844 1.6
:ﬂ\ A ERRES 16,752 16,752 0.1
Gl MR AL & 3,369,949 3,369,949 24.7
FRER B YR B X + Hitk B RS 2,539 2,539 0.0
BERE LMK ek B RS 9,342 9,342 0.1
ZELWHES 202,583 202,583 1.5

B TR ST R S e e 96,217 96,217 0.7

/N FF 13,552,609 13,552,609  99.3

i | EREFERRMBEREL S 0 0 0.0
/ELJ N BRI B ERHEES 75,063 75,063 0.6
O |EREFEEREEREESRAES 14,500 14,500 0.1
il NBRREEN BT —CRELENES 1,000 1,000 0.0
/N Et 90,563 90,563 0.7

& &t 13,643,172 13,643,172 100.0




(5)—Ffa A&

(BAL . T H)
X4 RIEEDF HES
—R=FT 3,500,000 0
= BRI = 3,300,000 0
AT REFERRISE 0 0
N ERBRER = 0 0
N 2 6,800,000
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